Solutions in Besov spaces of a class of abstract parabolic equations of higher order in time

By

Yoshitaka Үамамото

1. Introduction

We consider a linear evolution equation in a Banach space X_0 of order *n*:

(1.1)
$$\begin{cases} \sum_{j=0}^{n} A_{j} D_{t}^{n-j} u(t) = f(t), & 0 < t < T, \\ D_{t}^{n-j} u(0) = x_{j}, & j = 1, ..., n, \end{cases}$$

where A_j , j = 1, ..., n, are linear continuous operators from Banach spaces X_j to X_0 , respectively and A_0 is the identity operator in X_0 . X_j are assumed to be continuously embedded into X_{j-1} for j = 1, ..., n.

In this paper we intend to solve (1.1) in the intersection of X_j -valued Besov spaces with exponents $n-j+\theta$, j=0, 1, ..., n, which we denote by

(1.2)
$$\bigcap_{j=0}^{n} B_{p,q}^{n-j+\theta}(0,T;X_{j}).$$

In [25] we showed that when n = 1, the equation (1.1) has a unique solution in (1.2) for every data $(f, x_1) \in B_{p,q}^{\theta}(0, T; X_0) \times X_0$ with suitable compatibility relations if and only if (1.1) is a parabolic equation in X_0 . A similar result on solvability is expected for a class of parabolic equations of order n. In this paper we impose a condition for parabolicity on the operator pencil $\sum_{j=0}^{n} \lambda^{n-j} A_j$. See the hypothesis (H) in Section 6. Such a condition was introduced by Dubinskii [8] to study the equation with zero initial condition.

Under the assumptions above (1.1) is solved as follows. By introducing unknown functions $u_j = D_t^{n-j}u$, j = 1, ..., n, the equation (1.1) is written as a system of first order equations. We show that in a certain Banach space the system is realized as a parabolic equation. Then the above result for the case n = 1 is applicable to the system. The Banach space that we introduce is given in a definite way by using the functionals of Brézis and Fraenkel [3]. We shall study in detail the functionals, the operator pencil and the relation between them.

Communicated by Prof. N. Iwasaki, September 25, 1993

Revised February 20, 1998

Our result applies to the initial boundary value problem of a parabolic equation in the sense of Petrovskii with boundary condition not containing derivatives in t. With a suitable choice of the spaces X_j our condition on the operator pencil holds true of certain partial differential operators. See Tanabe [22], [23]. Lagnese [13] handled this problem in a way similar to ours. It seems that in [13] the system has not been reduced to a parabolic equation in an appropriate space yet. For other applications we refer the reader to Favini and Obrecht [9], and Favini and Tanabe [10].

There are several papers treating an equation of the form (1.1) with operators depending on t. Methods of constructing a fundamental solution to such a problem are discussed by Obrecht [18], [19] and Tanabe [22], [23]. In [23] a partial differential equation with boundary condition variable in t is considered. Our method of reduction to a system would not apply to this problem, since the variation of boundary operators causes complicated relations of the derivatives of solutions.

The plan of this paper is as follows. In Section 2 after giving the notation we shall collect definitions and certain properties of Besov spaces. In the next three sections we shall study the functionals of Brézis and Fraenkel and the operator pencil. In Section 6 we shall describe compatibility relations between data of (1.1) and then state our main result. In Section 7 we shall reduce (1.1) to a parabolic equation of first order and solve the problem in (1.2).

2. Notation and preliminaries

R and **C** denote the fields of real and complex numbers, respectively. Z_+ is the set of nonnegative integers. Let *E* and *F* be Banach spaces. $\mathscr{L}(E, F)$ is the space of bounded linear operators from *E* to *F* with uniform operator norm $\|\cdot\|_{\mathscr{L}(E,F)}$. We write simply $\mathscr{L}(E,E) = \mathscr{L}(E)$. For a linear operator *A* in *E* we denote the domain of *A* by $\mathscr{D}(A)$.

For $1 \le p \le \infty$, $0 \le a < b \le \infty$ and $l \in \mathbb{Z}_+$, set *E*-valued function spaces as follows. $\mathscr{D}'(a,b;E)$ is the space of distributions on (a,b). The derivatives of $f \in \mathscr{D}'(a,b;E)$ are denoted by $D_t^{\ l}f$. $L^p(a,b;E)$ and $L^p_*(a,b;E)$ are the L^p spaces with respect to the Lebesgue measure dt and the measure $t^{-1}dt$ on (a,b), respectively. For an interval I=(a,b), (a,b], [a,b) or [a,b], $C^l(I;E)$ is the space of *l* times continuously differentiable functions on *l*. In the notation above we omit the symbol *E* when E=R or *C*.

Assume $1 \le p \le \infty$, $1 \le q \le \infty$, $0 < \theta < \infty$, $0 < T \le \infty$. Set $m = [\theta] + 1$, where $[\theta]$ is the largest integer which does not exceed θ . For a strongly measurable function f on (0, T) with values in E put

$$\left[f\right]_{B^{\theta}_{p,q}(0,T;E)} = \left|h^{-\theta}\right| \sum_{k=0}^{m} (-1)^{m-k} \binom{m}{k} f(\cdot + kh) \left|_{L^{p}(0,T-mh;E)}\right|_{L^{q}(0,T/m)}$$

We define the subspaces $B_{p,q}^{\theta}(0,T;E)$ and $\dot{B}_{p,q}^{\theta}(0,T;E)$ of $L^{p}(0,T;E)$, called the Besov spaces, as follows:

- (1) $f \in L^{p}(0, T; E)$ belongs to $B^{\theta}_{p,q}(0, T; E)$ if $[f]_{B^{\theta}_{p,q}(0,T;E)} < \infty$.
- (2) $f \in L^{p}(0, T; E)$ belongs to $\dot{B}^{\theta}_{p,q}(0, T; E)$ if

$$f \in B^{\theta}_{p,q}(0,T;E)$$
 and $|h^{-\theta}|f|_{L^{p}(0,h;E)}|_{L^{q}(0,T)} < \infty$.

The spaces $B_{p,a}^{\theta}(0,T;E)$ and $\dot{B}_{p,a}^{\theta}(0,T;E)$ are equipped with the norms

$$\begin{split} |f|_{B^{\theta}_{p,q}(0,T;E)} &= |f|_{L^{p}(0,T;E)} + [f]_{B^{\theta}_{p,q}(0,T;E)}, \\ |f|_{\dot{B}^{\theta}_{p,q}(0,T;E)} &= |h^{-\theta}|f|_{L^{p}(0,h;E)}|_{L^{q}_{*}(0,T)} + |f|_{B^{\theta}_{p,q}(0,T;E)}, \end{split}$$

respectively and become Banach spaces. We shall collect several properties of Besov spaces. For details, we refer the reader to Triebel [24]. In the following proposition $B(\theta, p, q)$ stands for $B_{p,q}^{\theta}(0, T; E)$ or $\dot{B}_{p,q}^{\theta}(0, T; E)$.

Proposition 2.1. Assume $1 \le p$, $p' \le \infty$, $1 \le q$, $q' \le \infty$, $0 < \theta$, $0' < \infty$, $0 < T \le \infty$. Let us express 0 as $1+\sigma$ with $l \in \mathbb{Z}_+$ and $\sigma \in (0, 1]$. Then (1)–(5) hold.

- (1) $B(\theta, p, q) \subset B(\theta', p, q')$, when $\theta > \theta'$.
- (2) $B(0,p,q) \subset B(0-p^{-1}+p'^{-1},p',q')$, when $p' \ge p$, $q' \ge q$, $0 > p^{-1}-p'^{-1}$.
- (3) For $f \in B(0, p, q)$, if $T < \infty$, we have $\int_0^t f(s) ds \in B(1 + 0, p, q)$.
- (4) For $f \in B(0, p, q)$ we have $D_t^k f \in B(0-k, p, q), k = 0, ..., l$.
- (5) $\dot{B}^{\theta}_{p,q}(0,T;E) = \{ f \in B^{\theta}_{p,q}(0,T;E); \}$
 - $D_{l}^{k}f(0) = 0$ for $k = 0, ..., l-1, D_{l}^{l}f \in \dot{B}_{p,q}^{\sigma}(0, T; E)$.

When $\sigma - p^{-1}$ is not an integer, we have

$$B_{p,q}^{\sigma}(0, T; E) = \begin{cases} B_{p,q}^{\sigma}(0, T; E), & \text{when } \sigma - p^{-1} < 0, \\ \{ f \in B_{p,q}^{\sigma}(0, T; E); f(0) = 0 \}, & \text{when } \sigma - p^{-1} > 0. \end{cases}$$

Finally, we give two notations of frequent use. A sum $\sum_{l=i}^{j} a_l$ of a sequence in a vector space always means zero if i > j. We use the notation even if some of the terms a_l are not defined in advance. Let f and g be two functions defined on a set \mathscr{E} with values in $[0, \infty) \cup \{\infty\}$. By " $f(x) \sim g(x)$ " we mean the equivalence relation between f and g that there exist positive constants c_1 and c_2 independent of $x \in \mathscr{E}$ such that $c_1 f(x) \leq g(x) \leq c_2 f(x)$ holds for all $x \in \mathscr{E}$.

3. Functionals L_i

Let X_0 be a complex vector space and X_j , j = 1, ..., n, linear subspaces of X_0 satisfying the inclusion relations $X_j \subset X_{j-1}$, j = 1, ..., n. Let $|\cdot|_j$ be seminorms on X_j .

In this section we introduce a functional on X_j with a positive parameter and study certain intermediate spaces between X_0 and X_n relative to the functional.

For t > 0, $x \in X_j$, $j = 0, 1, \dots, n$, and $\phi \in X_n$ put

$$L_{j}(t, x; \phi) = \sum_{l=0}^{j} t^{l-j} |x - \phi|_{l} + \sum_{l=j+1}^{n} t^{l-j} |\phi|_{l}.$$

The functional $L_j(t, x)$ on X_j with a positive parameter t is given by taking the infimum of $L_j(t, x; \phi)$ over $\phi \in X_n$:

$$L_j(t,x) = \inf_{\phi \in X_n} L_j(t,x;\phi).$$

Obviously, we have $L_n(t, x) \equiv 0$. For each t > 0, $L_j(t, x)$ gives a seminorm on X_j . The functional L_j , together with the functional L given in Section 4, was introduced by Brézis and Fraenkel [3], although the definition of L_j was not explicitly presented there. They used the functionals to describe the spaces of the traces at t=0 of functions belonging to $\bigcap_{j=0}^{n} C^{n-j}([0,1];X_j)$, where X_j , j=0,1,...,n, were assumed to be Banach spaces with respective norms $|\cdot|_j$. We shall give a brief comment on their result later on.

The following two lemmas contain some basic properties of the functional L_i .

Lemma 3.1. (1) For t > 0, $x \in X_i$, j = 0, ..., n-1, and $\phi \in X_n$ we have

(3.1_j)
$$L_j(t, x) \le \sum_{l=0}^j t^{l-j} |x|_l,$$

(3.2_j)
$$L_j(t,\phi) \leq \sum_{l=j+1}^n t^{l-j} |\phi|_l.$$

(2) For t > 0 and $x \in X_j$, $0 \le k < j \le n$, we have

(3.3_{*j*,*k*})
$$L_k(t, x) \le t^{j-k} \left(L_j(t, x) + \sum_{l=k+1}^j t^{l-j} |x|_l \right).$$

(3) For t > 0 and $x \in X_k$, $0 \le j < k \le n$, we have

(3.4_{*j*,*k*})
$$L_k(t, x) \le t^{j-k} \left(L_j(t, x) + \sum_{l=j+1}^k t^{l-j} |x|_l \right).$$

Proof. For $\psi \in X_n$ in Case (1) we have

$$L_{j}(t, x; \psi) \leq \sum_{l=0}^{j} t^{l-j} |x|_{l} + \sum_{l=0}^{n} t^{l-j} |\psi|_{l},$$

$$L_{j}(t, \phi; \psi) \leq \sum_{l=j+1}^{n} t^{l-j} |\phi|_{l} + \sum_{l=0}^{n} t^{l-j} |\phi - \psi|_{l}.$$

In Case (2) we have

$$L_{k}(t,x;\psi) \leq \sum_{l=0}^{j} t^{l-k} |x-\psi|_{l} + \sum_{l=j+1}^{n} t^{l-k} |\psi|_{l} + \sum_{l=k+1}^{j} t^{l-k} |x|_{l}$$
$$= t^{j-k} \left(L_{j}(t,x;\psi) + \sum_{l=k+1}^{j} t^{l-j} |x|_{l} \right)$$

and in Case (3) we have

$$\begin{split} L_k(t,x\,;\psi) &\leq \sum_{l=0}^{j} t^{l-k} |x-\psi|_l + \sum_{l=j+1}^{n} t^{l-k} |\psi|_l + \sum_{l=j+1}^{k} t^{l-k} |x|_l \\ &= t^{j-k} \bigg(L_j(t,x\,;\psi) + \sum_{l=j+1}^{k} t^{l-j} |x|_l \bigg). \end{split}$$

Taking the infimum over $\psi \in X_n$, we obtain the inequalities (3.1)–(3.4).

Lemma 3.2. For t > 0, s > 0 and $x \in X_j$, j = 0, ..., n-1, we have (3.5_i) $s^j L_i(s, x) \le \max\{1, s/t\}^n t^j L_i(t, x).$

Proof. Notice that for $\phi \in X_n$ we have an inequality

$$s^{j}L_{j}(s,x;\phi) = \sum_{l=0}^{J} (s/t)^{l} t^{l} |x-\phi|_{l} + \sum_{l=j+1}^{n} (s/t)^{l} t^{l} |\phi|_{l}$$

$$\leq \max\{1,s/t\}^{n} t^{j}L_{j}(t,x;\phi).$$

It follows from (3.5_j) that for each $x \in X_j$, j=0, ..., n-1, the function $t \mapsto t^j L_j(t, x)$ is nondecreasing and continuous.

Using the functional L_i , we define the subspace Y_i of X_i as follows:

(3.6_j)
$$Y_j = \left\{ x \in X_j; \sup_{0 < t < \infty} L_j(t, x) < \infty \right\}, \quad j = 0, 1, ..., n.$$

The seminorm $|\cdot|'_j$ on Y_j is given by

(3.7_j)
$$|x|'_{j} = |x|_{j} + [x]_{j}, \text{ where } [x]_{j} = \sup_{0 < t < \infty} L_{j}(t, x).$$

Obviously, we have $Y_n = X_n$ and $|x|'_n = |x|_n$ for $x \in Y_n$. The inequality (3.1₀) implies that $Y_0 = X_0$ holds with equivalent seminorms. By (3.1_{j-1}) and (3.3_{j,j-1}) we obtain the inclusion relations $Y_j \subset Y_{j-1}$, j = 1, ..., n.

Let us now mention the result of Brézis and Fraenkel [3]. They proved that there exists a function $u \in \bigcap_{j=0}^{n} C^{n-j}([0,1]; X_j)$ with $D_t^{n-j}u(0) = x_j \in X_j$, j = 0, 1, ..., n, if and only if $\lim_{t\to 0} L_j(t, x_j) = 0$, j = 0, 1, ..., n, holds. This condition has another expression that for each j=0, 1, ..., n, x_j belongs to the closure of X_n in Y_j . We remark that when X_j , j=0, 1, ..., n, are Banach spaces, so are Y_j with respective norms $|\cdot|'_j$.

We have just presented the procedure for making from a set of subspaces $\{X_j, |\cdot|_j; j=0,1,...,n\}$ of X_0 another set of subspaces $\{Y_j, |\cdot|'_j; j=0,1,...,n\}$ of $X_0(=Y_0)$. An iteration of the procedure yields the same set of subspaces of X_0 as $\{Y_j, |\cdot|'_j; j=0,1,...,n\}$ with equivalent seminorms. Let us prove this fact. For $t>0, x \in Y_j, j=0,1,...,n$, and $\phi \in Y_n$ put

$$L'_{j}(t,x;\phi) = \sum_{l=0}^{j} t^{l-j} |x-\phi|'_{l} + \sum_{l=j+1}^{n} t^{l-j} |\phi|'_{l}.$$

Let us define the functional $L'_i(t, x)$ on Y_i by

$$L'_j(t,x) = \inf_{\phi \in Y_n} L'_j(t,x;\phi).$$

Then we have the following proposition.

Proposition 3.1. For $0 \le \theta \le 1$ and $x \in Y_i$, j = 0, ..., n-1, we have

$$(3.8) |t^{-\theta}L'_j(t,x)|_{L^{\infty}(0,\infty)} \le (2n+1) |t^{-\theta}L_j(t,x)|_{L^{\infty}(0,\infty)}.$$

The inequality (3.8) with $\theta = 0$ shows what we have claimed above.

Proof. First let us prove the following inequalities, for $t > 0, x \in Y_j, j = 0, ..., n-1$, and $\phi \in Y_n$:

$$(3.9) \quad [x-\phi]_k \le t^{j-k} (t^{\theta} | r^{-\theta} L_j(r,x) |_{L^{\infty}(0,\infty)} + L_j(t,x;\phi)), \qquad 0 \le k \le j,$$

$$(3.10) \quad [\phi]_k \le t^{j-k} (t^{\theta} | r^{-\theta} L_j(r, x) |_{L^{\infty}(0, \infty)} + L_j(t, x; \phi)), \quad j < k \le n-1.$$

Proof of (3.9): For s > 0, by $(3.3_{i,k})$ and (3.2_i) we have

$$(3.11) L_k(s, x-\phi) \le s^{j-k} \left(L_j(s, x-\phi) + \sum_{l=k+1}^j s^{l-j} |x-\phi|_l \right) \\ \le s^{j-k} \left(L_j(s, x) + L_j(s, \phi) + \sum_{l=k+1}^j s^{l-j} |x-\phi|_l \right) \\ \le s^{j-k} \left(L_j(s, x) + \sum_{l=j+1}^n s^{l-j} |\phi|_l + \sum_{l=k+1}^j s^{l-j} |x-\phi|_l \right)$$

Therefore, for $0 < s \le t$, we have

(3.12)
$$L_k(s, x - \phi)$$

Abstract parabolic equations

$$\leq t^{j-k} \bigg(t^{\theta} | r^{-\theta} L_j(r,x) |_{L^{\infty}(0,t)} + \sum_{l=j+1}^n t^{l-j} |\phi|_l + \sum_{l=k+1}^j t^{l-j} |x-\phi|_l \bigg).$$

On the other hand, for $s \ge t$, by (3.1_k) we have

$$L_k(s, x-\phi) \leq \sum_{l=0}^k s^{l-k} |x-\phi|_l \leq \sum_{l=0}^k t^{l-k} |x-\phi|_l.$$

Combining the estimates above, we obtain for all s > 0,

$$L_k(s, x - \phi) \le t^{j-k} (t^{\theta} | r^{-\theta} L_j(r, x) |_{L^{\infty}(0, t)} + L_j(t, x; \phi)).$$

The inequality (3.9) is a consequence of taking the supremum over s > 0.

Proof of (3.10): For s > 0, by $(3.4_{j,k})$ and (3.1_j) we have

$$(3.13) L_k(s,\phi) \le s^{j-k} \left(L_j(s,\phi) + \sum_{l=j+1}^k s^{l-j} |\phi|_l \right) \\ \le s^{j-k} \left(L_j(s,x) + L_j(s,x-\phi) + \sum_{l=j+1}^k s^{l-j} |\phi|_l \right) \\ \le s^{j-k} \left(L_j(s,x) + \sum_{l=0}^j s^{l-j} |x-\phi|_l + \sum_{l=j+1}^k s^{l-j} |\phi|_l \right).$$

Therefore, noting that $j-k+\theta \le 0$, for $s \ge t$, we have

$$L_{k}(s,\phi) \leq t^{j-k} \left(t^{\theta} | r^{-\theta} L_{j}(r,x) |_{L^{\infty}(t,\infty)} + \sum_{l=0}^{j} t^{l-j} | x - \phi |_{l} + \sum_{l=j+1}^{k} t^{l-j} | \phi |_{l} \right).$$

On the other hand, for $0 < s \le t$, by (3.2_k) we have

$$L_k(s,\phi) \leq \sum_{l=k+1}^n s^{l-k} |\phi|_l \leq \sum_{l=k+1}^n t^{l-k} |\phi|_l.$$

The subsequent argument is the same as that of the proof of (3.9).

Let us prove the inequality (3.8). For t>0, $x \in Y_j$ and $\phi \in Y_n$, by (3.9) and (3.10) we have

$$L'_{j}(t,x;\phi) \le nt^{\theta} | r^{-\theta} L_{j}(r,x) |_{L^{\infty}(0,\infty)} + (n+1)L_{j}(t,x;\phi).$$

Taking the infimum over $\phi \in Y_n(=X_n)$, we obtain (3.8).

When $0 < \theta < 1$, the inequality (3.8) is generalized in such a way that the L^{∞} norms of $t^{-\theta}L_j(t,x)$ and $t^{-\theta}L'_j(t,x)$ are replaced by the L^q norms with respect to the measure dt/t. We shall prove a seemingly complicated version of this fact.

Proposition 3.2. Assume $1 \le p \le \infty$, $1 \le q \le \infty$, $0 < \theta < 1$. For $x \in Y_j$, j = 0, ..., n-1, we have

$$(3.14) |h^{-\theta-p^{-1}}|L'_j(t,x)|_{L^p(0,h)}|_{L^q(0,\infty)} \le C_j |h^{-\theta-p^{-1}}|L_j(t,x)|_{L^p(0,h)}|_{L^q(0,\infty)},$$

where C_j are constants depending only on n, θ and j.

The inequality (3.14) with p = q is nothing but what we have claimed above.

Proof. As in the proof of (3.8) we first show the following inequalities analogous to (3.9) and (3.10), for t > 0, $x \in Y_i$, j = 0, ..., n-1, and $\phi \in Y_n$:

(3.15)
$$[x-\phi]_k \leq (n-k) \int_0^t r^{j-k} L_j(r,x) \frac{dr}{r} + t^{j-k} L_j(t,x;\phi), \quad 0 \leq k \leq j,$$

(3.16)
$$[\phi]_k \leq k \int_t^\infty r^{j-k} L_j(r,x) \frac{dr}{r} + t^{j-k} L_j(t,x;\phi), \quad j < k \leq n-1.$$

We first notice the estimates

(3.17)
$$s^{j-k}L_j(s,x) \le (n-k) \int_0^s r^{j-k}L_j(r,x) \frac{dr}{r}, \quad k=0,...,n-1,$$

(3.18)
$$s^{j-k}L_j(s,x) \le k \int_s^\infty r^{j-k}L_j(r,x) \frac{dr}{r}, \quad k=1,...,n.$$

These are obtained respectively by integrating over (0, s) and (s, ∞) with respect to the measure dr/r the both sides of the following inequality due to (3.5_i) :

$$\frac{(s/r)^k}{\max\{1, s/r\}^n} s^{j-k} L_j(s, x) \le r^{j-k} L_j(r, x).$$

For $0 < s \le t$, by (3.11) and (3.17) we have

$$L_k(s, x-\phi) \le (n-k) \int_0^t r^{j-k} L_j(r, x) \frac{dr}{r} + \sum_{l=j+1}^n t^{l-k} |\phi|_l + \sum_{l=k+1}^j t^{l-k} |x-\phi|_l, \ 0 \le k \le j.$$

Using this estimate in place of (3.12), we obtain the inequality (3.15) in the same manner as in the proof of (3.9). Similarly, (3.13) together with (3.18) implies the inequality (3.16).

Let us prove the inequality (3.14). For t > 0, $x \in Y_j$ and $\phi \in Y_n$, by (3.15) and (3.16) we have

$$L'_{j}(t,x;\phi) \leq \sum_{k=0}^{j} (n-k) \int_{0}^{t} (t/r)^{k-j} L_{j}(r,x) \frac{dr}{r}$$

Abstract parabolic equations

$$+\sum_{k=j+1}^{n-1}k\int_{t}^{\infty}(t/r)^{k-j}L_{j}(r,x)\frac{dr}{r}+(n+1)L_{j}(t,x;\phi).$$

Taking the infimum over $\phi \in Y_n (=X_n)$, we obtain

$$L'_{j}(t,x) \leq \sum_{k=0}^{j} (n-k) \int_{0}^{t} (t/r)^{k-j} L_{j}(r,x) \frac{dr}{r} + \sum_{k=j+1}^{n-1} k \int_{t}^{\infty} (t/r)^{k-j} L_{j}(r,x) \frac{dr}{r} + (n+1) L_{j}(t,x) = \sum_{k=0}^{j} (n-k) \int_{0}^{1} r^{-(k-j)} L_{j}(tr,x) \frac{dr}{r} + \sum_{k=j+1}^{n-1} k \int_{1}^{\infty} r^{-(k-j)} L_{j}(tr,x) \frac{dr}{r} + (n+1) L_{j}(t,x).$$

Notice that $r^{-(k-j-\theta)} \in L^1_*(0,1)$ for $k \leq j$, and that $r^{-(k-j-\theta)} \in L^1_*(1,\infty)$ for k > j. Then an application of Young's inequality gives (3.14).

The following proposition is useful for representing the spaces of the traces of functions belonging to (1.2) by means of the real interpolation method.

Proposition 3.3. For t > 0 and $x \in Y_j$, j = 0, ..., n-1, put

(3.19_j)
$$K'_j(t,x) = \inf_{\phi \in Y_{j+1}} (|x - \phi|'_j + t|\phi|'_{j+1}).$$

Assume $1 \le p \le \infty$, $1 \le q \le \infty$, $0 < \theta < 1$. For $x \in Y_j$, j = 0, ..., n-1, we have

$$\begin{aligned} |h^{-\theta-p^{-1}}|L_{j}(t,x)|_{L^{p}(0,h)}|_{L^{q}(0,\infty)} &\sim |t^{-\theta}L_{j}(t,x)|_{L^{q}(0,\infty)} \\ &\sim |h^{-\theta-p^{-1}}|L'_{j}(t,x)|_{L^{p}(0,h)}|_{L^{q}(0,\infty)} &\sim |t^{-\theta}L'_{j}(t,x)|_{L^{q}(0,\infty)} \\ &\sim |h^{-\theta-p^{-1}}|K'_{j}(t,x)|_{L^{p}(0,h)}|_{L^{q}(0,\infty)} &\sim |t^{-\theta}K'_{j}(t,x)|_{L^{q}(0,\infty)} \end{aligned}$$

If $p = q = \infty$, the assertion is valid also for $\theta = 0$ or $\theta = 1$.

Proof. We first prove the following lemma.

Lemma 3.3. For t > 0, $x \in Y_j$, j = 0, ..., n-1, we have

$$K'_i(t,x) \sim L'_i(t,x).$$

Proof. It is easy to see that $K'_i(t, x) \le L'_i(t, x)$, since we have an inequality

$$K'_{j}(t,x) \le |x-\phi|'_{j}+t|\phi|'_{j+1} \le L'_{j}(t,x;\phi), \quad \phi \in Y_{n}.$$

To obtain an upper bound of $L'_{i}(t,x)$ we first notice that

$$c_j = \sup_{\substack{0 < t < \infty \\ |x|_j \le 1}} L'_j(t, x), \quad j = 0, 1, ..., n,$$

are finite by Proposition 3.1. For $\phi \in Y_{j+1}$, by $(3.3_{j+1,j})$ we have

$$\begin{split} L'_{j}(t,x) &\leq L'_{j}(t,x-\phi) + L'_{j}(t,\phi) \\ &\leq L'_{j}(t,x-\phi) + t(L'_{j+1}(t,\phi) + |\phi|'_{j+1}) \\ &\leq c_{j}|x-\phi|'_{j} + t(c_{j+1}+1)|\phi|'_{j+1} \\ &\leq \max\{c_{j},c_{j+1}+1\}(|x-\phi|'_{j}+t|\phi|'_{j+1}). \end{split}$$

Taking the infimum over $\phi \in Y_{j+1}$, we obtain a desired estimate.

We return to a proof of Proposition 3.3. By Proposition 3.1, Proposition 3.2 and Lemma 3.3 we have only to show that

$$|h^{-\theta-p^{-1}}|K'_{j}(t,x)|_{L^{p}(0,h)}|_{L^{q}(0,\infty)} \sim |t^{-\theta}K'_{j}(t,x)|_{L^{q}(0,\infty)}.$$

This is a consequence of the inequality

$$\min\{1, t/h\}K'_{j}(h, x) \le K'_{j}(t, x) \le \max\{1, t/h\}K'_{j}(h, x),$$

due to Lemma 3.2 with n=1.

Remark 3.1. For $x \in X_j$, j = 0, ..., n-1, the condition

 $|h^{-\theta-p^{-1}}|L_{j}(t,x)|_{L^{p}(0,h)}|_{L^{q}(0,\infty)} < \infty$

implies that $x \in Y_j$, since by (3.5_j) we have

$$s^{p^{-1}}L_j(s,x) \le \{p(n-j)\}^{p^{-1}}|L_j(t,x)|_{L^p(0,h)}, \quad h \ge s > 0,$$

and hence we obtain

$$s^{-\theta}L_{f}(s,x) \leq \{p(n-j)\}^{p^{-1}} \{q(\theta+p^{-1})\}^{q^{-1}} |h^{-\theta-p^{-1}}|L_{f}(t,x)|_{L^{p}(0,h)}|_{L^{q}_{x}(s,\infty)}$$

4. Functional L

Let $\{X_j, |\cdot|_j; j=0, 1, ..., n\}$ be a set of complex vector spaces and seminorms satisfying the hypotheses of Section 3. For t>0, $\zeta \in C$ with $|\zeta|=1$, $x_j \in X_j$, j=0,...,n-1, and $\phi \in X_n$ put

$$L(t,\zeta,x_0,...,x_{n-1};\phi) = \sum_{l=0}^{n} \left| \sum_{j=l}^{n-1} (t\zeta)^{l-j} x_j - (t\zeta)^{l-n} \phi \right|_l.$$

The functional $L(t, \zeta, x_0, ..., x_{n-1})$ on the product space $X_0 \times \cdots \times X_{n-1}$ with two parameters t and ζ is defined by taking the infimum of $L(t, \zeta, x_0, ..., x_{n-1}; \phi)$ over $\phi \in X_n$:

$$L(t, \zeta, x_0, ..., x_{n-1}) = \inf_{\phi \in X_n} L(t, \zeta, x_0, ..., x_{n-1}; \phi).$$

The definition of $L(t, 1, x_0, ..., x_{n-1})$ is due to Brézis and Fraenkel [3]. We introduce a new parameter ζ for technical reasons. The functional gives a seminorm on $X_0 \times \cdots \times X_{n-1}$, while for each $(\zeta, x_0, ..., x_{n-1})$ the function $t \mapsto L(t, \zeta, x_0, ..., x_{n-1})$ is upper semicontinuous. In this section we shall observe several properties of the functional L. Also the relation between the functionals L and L_j is studied. Some of the results are given by Brézis and Fraenkel.

Lemma 4.1. For t > 0, $\zeta \in C$ with $|\zeta| = 1$, $\lambda > 0$ and $x_i \in X_j$, j = 0, ..., n-1, we have

(4.1)
$$L(t,\zeta,x_{0},...,\lambda^{j}x_{j},...,\lambda^{n-1}x_{n-1}) \\ \leq \max\{1,\lambda^{n}\}L(t/\lambda,\zeta,x_{0},...,x_{j},...,x_{n-1}).$$

Proof. For $\phi \in X_n$, by definition the left-hand side of (4.1) dose not exceed

$$\sum_{l=0}^{n} \left| \lambda^{l} \left\{ \sum_{j=l}^{n-1} (t\zeta/\lambda)^{l-j} x_{j} - (t\zeta/\lambda)^{l-n} \lambda^{-n} \phi \right\} \right|_{l}$$

This is bounded from above by

$$\max\{1,\lambda^n\}L(t/\lambda,\zeta,x_0,\ldots,x_j,\ldots,x_{n-1};\lambda^{-n}\phi)$$

Taking the infimum over $\phi \in X_n$, we obtain the inequality (4.1).

Lemma 4.2. For t > 0, $\zeta \in C$ with $|\zeta| = 1$ and $x_j \in X_j$, j = 0, ..., n-1, we have

$$L(t, \zeta, 0, ..., x_j, ..., 0) = L_j(t, x_j).$$

Proof. Notice that for $\phi \in X_n$ we have an equality

$$L(t, \zeta, 0, ..., x_i, ..., 0; \phi) = L_i(t, x_i; (t\zeta)^{j-n}\phi).$$

Let λ_k , k = 0, ..., n-1, be distinct positive numbers. For j = 0, ..., n-1, we define the numbers α_{ik} , k = 0, ..., n-1, by the roots of the system

$$\sum_{k=0}^{n-1} \lambda_k^{l} \alpha_{jk} = \delta_{jl}, \quad l = 0, ..., n-1,$$

where δ_{jl} is Kronecker's symbol. By Lemma 4.2 we have

Yoshitaka Yamamoto

$$L_{j}(t, x_{j}) = L\left(t, \zeta, \sum_{k=0}^{n-1} \alpha_{jk} x_{0}, \dots, \sum_{k=0}^{n-1} \lambda_{k}^{j} \alpha_{jk} x_{j}, \dots, \sum_{k=0}^{n-1} \lambda_{k}^{n-1} \alpha_{jk} x_{n-1}\right)$$

$$\leq \sum_{k=0}^{n-1} |\alpha_{jk}| L(t, \zeta, x_{0}, \dots, \lambda_{k}^{j} x_{j}, \dots, \lambda_{k}^{n-1} x_{n-1}).$$

Hence it follows from Lemma 4.1 that

(4.2)
$$L_{j}(t,x_{j}) \leq \sum_{k=0}^{n-1} \max\{1,\lambda_{k}^{n}\} |\alpha_{jk}| L(t/\lambda_{k},\zeta,x_{0},...,x_{j},...,x_{n-1})$$

On the other hand, Lemma 4.2 implies that

(4.3)
$$L(t,\zeta,x_0,...,x_{n-1}) \leq \sum_{j=0}^{n-1} L_j(t,x_j).$$

Combining (4.2) and (4.3), by Proposition 3.3 we obtain the following proposition.

Proposition 4.1. Assume $1 \le p \le \infty$, $1 \le q \le \infty$, $0 < \theta < 1$. For $\zeta \in C$ with $|\zeta| = 1$ and $x_j \in Y_j$, j = 0, ..., n-1, we have

$$\begin{split} |h^{-\theta-p^{-1}}|L(t,\zeta,x_{0},...,x_{n-1})|_{L^{p}(0,h)}|_{L^{q}(0,\infty)} &\sim |t^{-\theta}L(t,\zeta,x_{0},...,x_{n-1})|_{L^{q}(0,\infty)} \\ &\sim |h^{-\theta-p^{-1}}|L'(t,\zeta,x_{0},...,x_{n-1})|_{L^{p}(0,h)}|_{L^{q}(0,\infty)} \sim |t^{-\theta}L'(t,\zeta,x_{0},...,x_{n-1})|_{L^{q}(0,\infty)} \\ &\sim \sum_{j=0}^{n-1} |h^{-\theta-p^{-1}}|L_{j}(t,x_{j})|_{L^{p}(0,h)}|_{L^{q}(0,\infty)} \sim \sum_{j=0}^{n-1} |t^{-\theta}L_{j}(t,x_{j})|_{L^{q}(0,\infty)} \\ &\sim \sum_{j=0}^{n-1} |h^{-\theta-p^{-1}}|L_{j}'(t,x_{j})|_{L^{p}(0,h)}|_{L^{q}(0,\infty)} \sim \sum_{j=0}^{n-1} |t^{-\theta}L_{j}'(t,x_{j})|_{L^{q}(0,\infty)} \\ &\sim \sum_{j=0}^{n-1} |h^{-\theta-p^{-1}}|K_{j}'(t,x_{j})|_{L^{p}(0,h)}|_{L^{q}(0,\infty)} \sim \sum_{j=0}^{n-1} |t^{-\theta}K_{j}'(t,x_{j})|_{L^{q}(0,\infty)}, \end{split}$$

where $L'(t, \zeta, x_0, ..., x_{n-1})$ is the functional on $Y_0 \times \cdots \times Y_{n-1}$ given by

(4.4)
$$L'(t,\zeta,x_0,...,x_{n-1}) = \inf_{\phi \in Y_n} \sum_{l=0}^n \left| \sum_{j=l}^{n-1} (t\zeta)^{l-j} x_j - (t\zeta)^{l-n} \phi \right|_l'.$$

If $p = q = \infty$, the assertion is valid also for $\theta = 0$ or $\theta = 1$.

Remark 4.1. For $x_j \in X_j$, j=0,...,n-1, by Remark 3.1 the condition

$$|h^{-\theta-p^{-1}}|L(t,\zeta,x_0,\ldots,x_{n-1})|_{L^p(0,h)}|_{L^q_*(0,\infty)} < \infty$$

implies that $x_j \in Y_j$, j = 0, ..., n-1.

5. Operator pencils

Let $\{X_j, |\cdot|_j; j=0, 1, ..., n\}$ be a set of complex vector spaces and seminorms satisfying the hypotheses of Section 3. Let $A_j, j=1, ..., n$, be linear operators from X_j to X_0 . For a complex parameter λ let us define the linear operators $P_j(\lambda)$, j=0, 1, ..., n, from X_j to X_0 by

$$P_{j}(\lambda) = \sum_{k=0}^{j} \lambda^{j-k} A_{k},$$

where A_0 is the identity operator in X_0 . We call the operators $P_j(\lambda)$ operator pencils. In this section we make the following hypotheses.

Hypotheses. There exists a constant $\zeta \in C$ with $|\zeta| = 1$ such that $P_n(\lambda)$ are bijective for $\lambda \in \mathbf{R}_+ \zeta = \{t\zeta; t \in \mathbf{R}_+\}$, where \mathbf{R}_+ is the set of positive real numbers. There exist positive constants M_i and N_j such that we have

(5.1) $|P_n(\lambda)^{-1}x|_j \le M_j |\lambda|^{j-n} |x|_0, \quad \lambda \in \mathbf{R}_+ \zeta, \quad x \in X_0, \quad j = 0, 1, ..., n,$

(5.2)
$$|A_j x|_0 \le N_j |x|_j, \qquad x \in X_j, \quad j = 0, 1, ..., n.$$

In this section we shall first show that the functionals L_j and L are approximated well by means of the operator pencils. We shall then show that inequalities similar to (5.1) and (5.2) hold with the seminorms $|\cdot|'_j$ given by (3.7_j). Finally, we shall study a matrix of operators describing a certain system of first order equations.

Lemma 5.1. For $\lambda \in \mathbf{R}_+ \zeta$ and $x \in X_j$, j = 0, ..., n-1, we have

$$L_{j}(|\lambda|^{-1}, x) \sim \sum_{l=0}^{j} |\lambda|^{n-l} |P_{n}(\lambda)^{-1} P_{j}(\lambda) x - \lambda^{j-n} x|_{l} + \sum_{l=j+1}^{n} |\lambda|^{n-l} |P_{n}(\lambda)^{-1} P_{j}(\lambda) x|_{l}$$

$$\sim \sum_{l=1}^{j} |\lambda|^{n-l} |P_{n}(\lambda)^{-1} P_{j}(\lambda) x - \lambda^{j-n} x|_{l} + \sum_{l=j+1}^{n} |\lambda|^{n-l} |P_{n}(\lambda)^{-1} P_{j}(\lambda) x|_{l}$$

$$\sim \sum_{l=0}^{j} |\lambda|^{n-l} |P_{n}(\lambda)^{-1} P_{j}(\lambda) x - \lambda^{j-n} x|_{l} + \sum_{l=j+1}^{n-1} |\lambda|^{n-l} |P_{n}(\lambda)^{-1} P_{j}(\lambda) x|_{l}.$$

Proof. We begin with a proof of the first equivalence relation. By definition it is clear that $L_j(|\lambda|^{-1}, x)$ does not exceed

$$L_{j}(|\lambda|^{-1}, x; \lambda^{n-j}P_{n}(\lambda)^{-1}P_{j}(\lambda)x)$$

= $\sum_{l=0}^{j} |\lambda|^{n-l}|P_{n}(\lambda)^{-1}P_{j}(\lambda)x - \lambda^{j-n}x|_{l} + \sum_{l=j+1}^{n} |\lambda|^{n-l}|P_{n}(\lambda)^{-1}P_{j}(\lambda)x|_{l}.$

Since for $\phi \in X_n$ we have an equality

Yoshitaka Yamamoto

$$P_n(\lambda)^{-1}P_j(\lambda)\phi = \lambda^{j-n}\phi - \lambda^{j-n}P_n(\lambda)^{-1}\sum_{k=j+1}^n \lambda^{n-k}A_k\phi,$$

for $0 \le l \le j$ we obtain

$$|P_{n}(\lambda)^{-1}P_{j}(\lambda)x - \lambda^{j-n}x|_{l} \leq |P_{n}(\lambda)^{-1}P_{j}(\lambda)(x-\phi)|_{l} + |\lambda|^{j-n}|x-\phi|_{l} + |\lambda|^{j-n} \left|P_{n}(\lambda)^{-1}\sum_{k=j+1}^{n} \lambda^{n-k}A_{k}\phi\right|_{l},$$

and for $j < l \le n$ we obtain

$$|P_n(\lambda)^{-1}P_j(\lambda)x|_l$$

$$\leq |P_n(\lambda)^{-1}P_j(\lambda)(x-\phi)|_l + |\lambda|^{j-n}|\phi|_l + |\lambda|^{j-n}\left|P_n(\lambda)^{-1}\sum_{k=j+1}^n \lambda^{n-k}A_k\phi\right|_l.$$

By (5.1) and (5.2) the right-hand sides of these estimates do not exceed

$$|\lambda|^{l-n} \left\{ \sum_{k=0}^{j} (\delta_{kl} + M_l N_k) |\lambda|^{j-k} |x - \phi|_k + \sum_{k=j+1}^{n} (\delta_{kl} + M_l N_k) |\lambda|^{j-k} |\phi|_k \right\}.$$

Therefore we have

$$\sum_{l=0}^{j} |\lambda|^{n-l} |P_n(\lambda)^{-1} P_j(\lambda) x - \lambda^{j-n} x|_l + \sum_{l=j+1}^{n} |\lambda|^{n-l} |P_n(\lambda)^{-1} P_j(\lambda) x|_l$$

$$\leq \left(1 + \sum_{l=0}^{n} M_l \max_{0 \le k \le n} N_k\right) L_j(|\lambda|^{-1}, x; \phi).$$

Taking the infimum over $\phi \in X_n$, we obtain the first equivalence relation.

In order to prove the second equivalence relation it suffices to show that the first summand of the second term is estimated from above by the sum of the others. This follows from the equality

(5.3)
$$P_{n}(\lambda)^{-1}P_{j}(\lambda)x - \lambda^{j-n}x = -\lambda^{-n}\sum_{k=1}^{j}\lambda^{n-k}A_{k}(P_{n}(\lambda)^{-1}P_{j}(\lambda)x - \lambda^{j-n}x) - \lambda^{-n}\sum_{k=j+1}^{n}\lambda^{n-k}A_{k}P_{n}(\lambda)^{-1}P_{j}(\lambda)x.$$

For $x \in X_n$, by (5.1) and (5.2) we have

(5.4)
$$|x|_{n} = |P_{n}(\lambda)^{-1} P_{n}(\lambda)x|_{n} \le M_{n} \lim_{\lambda \to 0} |P_{n}(\lambda)x|_{0} = M_{n}|A_{n}x|_{0}.$$

Hence the third equivalence relation follows from the equality

(5.5)
$$A_{n}P_{n}(\lambda)^{-1}P_{j}(\lambda)x = -\sum_{k=0}^{j} \lambda^{n-k}A_{k}(P_{n}(\lambda)^{-1}P_{j}(\lambda)x - \lambda^{j-n}x)$$

$$-\sum_{k=j+1}^{n-1}\lambda^{n-k}A_kP_n(\lambda)^{-1}P_j(\lambda)x.$$

Lemma 5.2. For $\lambda \in \mathbf{R}_+ \zeta$ and $x_j \in X_j$, j = 0, ..., n-1, we have

$$L(|\lambda|^{-1}, \zeta^{-1}, x_0, ..., x_{n-1}) \sim \sum_{l=0}^n |\lambda|^{n-l} \left| \sum_{j=0}^{n-1} P_n(\lambda)^{-1} P_j(\lambda) x_j - \sum_{j=l}^{n-1} \lambda^{j-n} x_j \right|_l$$
$$\sim \sum_{l=1}^n |\lambda|^{n-l} \left| \sum_{j=0}^{n-1} P_n(\lambda)^{-1} P_j(\lambda) x_j - \sum_{j=l}^{n-1} \lambda^{j-n} x_j \right|_l$$
$$\sim \sum_{l=0}^{n-1} |\lambda|^{n-l} \left| \sum_{j=0}^{n-1} P_n(\lambda)^{-1} P_j(\lambda) x_j - \sum_{j=l}^{n-1} \lambda^{j-n} x_j \right|_l.$$

Proof. Let us prove the first equivalence relation. By definition we have

$$L(|\lambda|^{-1}, \zeta^{-1}, x_0, ..., x_{n-1})$$

$$\leq L\left(|\lambda|^{-1}, \zeta^{-1}, x_0, ..., x_{n-1}; \sum_{j=0}^{n-1} P_n(\lambda)^{-1} P_j(\lambda) x_j\right)$$

$$= \sum_{l=0}^n |\lambda|^{n-l} \left| \sum_{j=0}^{n-1} P_n(\lambda)^{-1} P_j(\lambda) x_j - \sum_{j=l}^{n-1} \lambda^{j-n} x_j \right|_l.$$

Since for $\phi \in X_n$ we have an equality

$$\sum_{j=0}^{n-1} P_n(\lambda)^{-1} P_j(\lambda) x_j = \sum_{k=0}^n P_n(\lambda)^{-1} A_k \left(\sum_{j=k}^{n-1} \lambda^{j-k} x_j - \lambda^{n-k} \phi \right) + \phi,$$

we have

$$\left|\sum_{j=0}^{n-1} P_{n}(\lambda)^{-1} P_{j}(\lambda) x_{j} - \sum_{j=l}^{n-1} \lambda^{j-n} x_{j}\right|_{l} \leq |\lambda|^{l-n} \left(M_{l} \sum_{k=0}^{n} N_{k} \left| \sum_{j=k}^{n-1} \lambda^{j-k} x_{j} - \lambda^{n-k} \phi \right|_{k} + \left| \sum_{j=l}^{n-1} \lambda^{j-l} x_{j} - \lambda^{n-l} \phi \right|_{l} \right),$$

and hence we have

$$\sum_{l=0}^{n} |\lambda|^{n-l} \left| \sum_{j=0}^{n-1} P_n(\lambda)^{-1} P_j(\lambda) x_j - \sum_{j=l}^{n-1} \lambda^{j-n} x_j \right|_l$$

$$\leq \left(1 + \sum_{l=0}^{n} M_l \max_{0 \le k \le n} N_k \right) L(|\lambda|^{-1}, \zeta^{-1}, x_0, \dots, x_{n-1}; \phi).$$

Taking the infimum over $\phi \in X_n$, we obtain the first equivalence relation.

By (5.3) and a simple calculation we have an equality

Yoshitaka Yamamoto

$$\sum_{j=0}^{n-1} (P_n(\lambda)^{-1} P_j(\lambda) x_j - \lambda^{j-n} x_j)$$

= $-\sum_{k=1}^n \lambda^{-k} A_k \left(\sum_{j=0}^{n-1} P_n(\lambda)^{-1} P_j(\lambda) x_j - \sum_{j=k}^{n-1} \lambda^{j-n} x_j \right).$

This implies that the first summand of the second term is estimated from above by the sum of the others. Thus the second equivalence relation is proved. From (5.5) we can derive an equality

$$A_n \sum_{j=0}^{n-1} P_n(\lambda)^{-1} P_j(\lambda) x_j = -\sum_{k=0}^{n-1} \lambda^{n-k} A_k \left(\sum_{j=0}^{n-1} P_n(\lambda)^{-1} P_j(\lambda) x_j - \sum_{j=k}^{n-1} \lambda^{j-n} x_j \right).$$

Using this together with (5.4), we obtain the third equivalence relation.

Lemma 5.3. There exist constants M'_i and N'_i , j = 0, 1, ..., n, such that we have

(5.6)
$$|P_n(\lambda)^{-1}x|_j \le M_j |\lambda|^{j-n} |x|_0', \quad \lambda \in \mathbf{R}_+ \zeta, \quad x \in Y_0, \quad j = 0, 1, ..., n,$$

(5.7)
$$|A_j x|_0' \le N_j' |x|_j', \qquad x \in Y_j, \quad j = 0, 1, ..., n$$

Proof. The estimate (5.7) is obvious in view of (3.1_0) and the definition of $|\cdot|'_j$. For $x \in Y_j$, j=0,...,n-1, by Lemma 5.1 we have an equivalence relation

$$[x]_{j} \sim \sup_{\mu \in \mathbf{R} + \zeta} \left(\sum_{l=0}^{j} |\mu|^{n-l} |P_{n}(\mu)^{-1} P_{j}(\mu) x - \mu^{j-n} x|_{l} + \sum_{l=j+1}^{n} |\mu|^{n-l} |P_{n}(\mu)^{-1} P_{j}(\mu) x|_{l} \right).$$

Therefore, to show (5.6) we have only to estimate each summand of

(5.8)
$$\sum_{l=0}^{j} |\mu|^{n-l} |P_n(\mu)^{-1} P_j(\mu) P_n(\lambda)^{-1} x - \mu^{j-n} P_n(\lambda)^{-1} x|_l + \sum_{l=j+1}^{n} |\mu|^{n-l} |P_n(\mu)^{-1} P_j(\mu) P_n(\lambda)^{-1} x|_l.$$

First, let us consider the case $0 \le l \le j$. Since we have an equality

$$P_{n}(\mu)^{-1}P_{j}(\mu)P_{n}(\lambda)^{-1}x - \mu^{j-n}P_{n}(\lambda)^{-1}x = -P_{n}(\mu)^{-1}\sum_{k=j+1}^{n}\mu^{j-k}A_{k}P_{n}(\lambda)^{-1}x,$$

for $|\mu| \ge |\lambda|$ we obtain

(5.9)
$$|P_{n}(\mu)^{-1}P_{j}(\mu)P_{n}(\lambda)^{-1}x - \mu^{j-n}P_{n}(\lambda)^{-1}x|_{l}$$
$$\leq |\mu|^{l-n}M_{l}\sum_{k=j+1}^{n}N_{k}|\mu/\lambda|^{j-k}|\lambda|^{j-k}|P_{n}(\lambda)^{-1}x|_{k}$$

$$\leq |\mu|^{l-n} M_l \max_{j < k \leq n} N_k \sum_{k=j+1}^n |\lambda|^{j-k} |P_n(\lambda)^{-1} x|_k.$$

On the other hand, since we have an equality

$$P_{n}(\mu)^{-1}P_{j}(\mu)P_{n}(\lambda)^{-1}x - \mu^{j-n}P_{n}(\lambda)^{-1}x$$

$$= \sum_{k=1}^{j} \mu^{j-k}P_{n}(\mu)^{-1}A_{k}P_{n}(\lambda)^{-1}x + \mu^{j}P_{n}(\mu)^{-1}(P_{n}(\lambda)^{-1}x - \lambda^{-n}x)$$

$$- \mu^{j-n}(P_{n}(\lambda)^{-1}x - \delta_{0l}\lambda^{-n}x) + \mu^{j}\lambda^{-n}(P_{n}(\mu)^{-1}x - \delta_{0l}\mu^{-n}x),$$

for $|\mu| \leq |\lambda|$ we obtain

$$(5.10) \qquad |P_{n}(\mu)^{-1}P_{j}(\mu)P_{n}(\lambda)^{-1}x - \mu^{j-n}P_{n}(\lambda)^{-1}x|_{l} \\ \leq |\mu|^{l-n}M_{l}\sum_{k=1}^{j}N_{k}|\mu/\lambda|^{j-k}|\lambda|^{j-k}|P_{n}(\lambda)^{-1}x|_{k} \\ + |\mu|^{l-n}M_{l}|\mu/\lambda|^{j}|\lambda|^{j}|P_{n}(\lambda)^{-1}x - \lambda^{-n}x|_{0} \\ + |\mu|^{l-n}|\mu/\lambda|^{j-l}|\lambda|^{j-l}|P_{n}(\lambda)^{-1}x - \delta_{0l}\lambda^{-n}x|_{l} \\ + |\mu|^{l-n}|\mu/\lambda|^{j}|\lambda|^{j-n}|\mu|^{n-l}|P_{n}(\mu)^{-1}x - \delta_{0l}\mu^{-n}x|_{l} \\ \leq |\mu|^{l-n}M_{l}\max_{0 \leq k \leq j}N_{k}\sum_{k=0}^{j}|\lambda|^{j-k}|P_{n}(\lambda)^{-1}x - \delta_{0k}\lambda^{-n}x|_{k} \\ + |\mu|^{l-n}|\lambda|^{j-l}|P_{n}(\lambda)^{-1}x - \delta_{0l}\mu^{-n}x|_{l} \\ + |\mu|^{l-n}|\lambda|^{j-n}|\mu|^{n-l}|P_{n}(\mu)^{-1}x - \delta_{0l}\mu^{-n}x|_{l}.$$

Next, let us consider the case $j < l \le n$. Since we have an equality

$$P_{n}(\mu)^{-1}P_{j}(\mu)P_{n}(\lambda)^{-1}x = \mu^{j-n}P_{n}(\lambda)^{-1}x - P_{n}(\mu)^{-1}\sum_{k=j+1}^{n}\mu^{j-k}A_{k}P_{n}(\lambda)^{-1}x,$$

for $|\mu| \ge |\lambda|$ we obtain

(5.11)
$$|P_{n}(\mu)^{-1}P_{j}(\mu)P_{n}(\lambda)^{-1}x|_{l}$$

$$\leq |\mu|^{l-n}|\mu/\lambda|^{j-l}|\lambda|^{j-l}|P_{n}(\lambda)^{-1}x|_{l}$$

$$+ |\mu|^{l-n}M_{l}\sum_{k=j+1}^{n}N_{k}|\mu/\lambda|^{j-k}|\lambda|^{j-k}|P_{n}(\lambda)^{-1}x|_{k}$$

$$\leq |\mu|^{l-n}|\lambda|^{j-l}|P_{n}(\lambda)^{-1}x|_{l}$$

$$+ |\mu|^{l-n}M_{l}\max_{j\leq k\leq n}N_{k}\sum_{k=j+1}^{n}|\lambda|^{j-k}|P_{n}(\lambda)^{-1}x|_{k}.$$

On the other hand, since we have an equality

$$P_{n}(\mu)^{-1}P_{j}(\mu)P_{n}(\lambda)^{-1}x$$

$$=\sum_{k=1}^{j}\mu^{j-k}P_{n}(\mu)^{-1}A_{k}P_{n}(\lambda)^{-1}x$$

$$+\mu^{j}P_{n}(\mu)^{-1}(P_{n}(\lambda)^{-1}x-\lambda^{-n}x)+\mu^{j}\lambda^{-n}P_{n}(\mu)^{-1}x,$$

for $|\mu| \leq |\lambda|$ we obtain

(5.12)
$$|P_{n}(\mu)^{-1}P_{j}(\mu)P_{n}(\lambda)^{-1}x|_{l}$$

$$\leq |\mu|^{l-n}M_{l}\sum_{k=1}^{j}N_{k}|\mu/\lambda|^{j-k}|\lambda|^{j-k}|P_{n}(\lambda)^{-1}x|_{k}$$

$$+|\mu|^{l-n}M_{l}|\mu/\lambda|^{j}|\lambda|^{j}|P_{n}(\lambda)^{-1}x-\lambda^{-n}x|_{0}$$

$$+|\mu/\lambda|^{j}|\lambda|^{j-n}|P_{n}(\mu)^{-1}x|_{l}$$

$$\leq |\mu|^{l-n}M_{l}\max_{0 \leq k \leq j}N_{k}\sum_{k=0}^{j}|\lambda|^{j-k}|P_{n}(\lambda)^{-1}x-\delta_{0k}\lambda^{-n}x|_{k}$$

$$+|\mu|^{l-n}|\lambda|^{j-n}|\mu|^{n-l}|P_{n}(\mu)^{-1}x|_{l}.$$

By virtue of (5.9) and (5.11), (5.8) dose not exceed

$$|\lambda|^{j-n} \left(1 + \sum_{l=0}^{n} M_l \max_{j < k \le n} N_k\right) \sum_{l=j+1}^{n} |\lambda|^{n-l} |P_n(\lambda)^{-1} x|_l$$

when $|\mu| \ge |\lambda|$, and by virtue of (5.10) and (5.12), (5.8) dose not exceed

$$\begin{aligned} |\lambda|^{j-n} \bigg(1 + \sum_{l=0}^{n} M_{l} \max_{0 \le k \le j} N_{k} \bigg) \sum_{l=0}^{j} |\lambda|^{n-l} |P_{n}(\lambda)^{-1} x - \delta_{0l} \lambda^{-n} x|_{l} \\ + |\lambda|^{j-n} \sum_{l=0}^{n} |\mu|^{n-l} |P_{n}(\mu)^{-1} x - \delta_{0l} \mu^{-n} x|_{l} \end{aligned}$$

when $|\mu| \leq |\lambda|$. Hence (5.8) is bounded from above by

$$\begin{aligned} |\lambda|^{j-n} &\left(2 + \sum_{l=0}^{n} M_{l} \max_{0 \le k \le n} N_{k}\right) \sup_{\mu \in \mathbf{R} + \zeta} \sum_{l=0}^{n} |\mu|^{n-l} |P_{n}(\mu)^{-1} x - \delta_{0l} \mu^{-n} x|_{l} \\ &\sim |\lambda|^{j-n} [x]_{0}. \end{aligned}$$

Thus we obtain a desired estimate of (5.8).

Let us now consider a matrix of operators

(5.13)
$$B = \begin{bmatrix} A_1 & A_2 & \dots & A_{n-1} & A_n \\ -I & 0 & \dots & 0 & 0 \\ 0 & -I & \ddots & 0 & 0 \\ \vdots & \ddots & \ddots & \ddots & \vdots \\ 0 & \dots & -I & 0 \end{bmatrix}.$$

The matrix *B* is regarded as an operator in $E = X_0 \times \cdots \times X_{n-1}$ with domain $\mathcal{D}(B) = X_1 \times \cdots \times X_n$. The following lemma is proved by a simple calculation.

Lemma 5.4. For $\lambda \in \mathbf{R}_+ \zeta$ the operator $\lambda + B$ is bijective. The inverse $(\lambda + B)^{-1}$ is expressed as a matrix of operators the (i, j) components of which are given by

(5.14)
$$\begin{cases} \lambda^{n-i} P_n(\lambda)^{-1} P_{j-1}(\lambda) - \lambda^{j-i-1} I, & i < j, \\ \lambda^{n-i} P_n(\lambda)^{-1} P_{j-1}(\lambda), & i \ge j. \end{cases}$$

Let us give an approximation of the functional L by means of the operator B. For $(x_0, ..., x_{n-1}) \in E$ put

$$|(x_0, ..., x_{n-1})|_E = \sum_{j=0}^{n-1} |x_j|_j.$$

By Lemma 5.4 the *l*-th component of $(\lambda + B)^{-1}(x_0, ..., x_{n-1})$ is

$$\lambda^{n-l}\left(\sum_{j=0}^{n-1}P_n(\lambda)^{-1}P_j(\lambda)x_j-\sum_{j=l}^{n-1}\lambda^{j-n}x_j\right).$$

Hence, for $\lambda \in \mathbf{R}_{+}\zeta$ and $x_{i} \in X_{i}$, j = 0, ..., n-1, by (5.4) we have

$$|B(\lambda+B)^{-1}(x_0,\ldots,x_{n-1})|_E \sim \sum_{l=1}^n |\lambda|^{n-l} \left| \sum_{j=0}^{n-1} P_n(\lambda)^{-1} P_j(\lambda) x_j - \sum_{j=l}^{n-1} \lambda^{j-n} x_j \right|_l.$$

This together with Lemma 5.2 proves the following lemma.

Lemma 5.5. For $\lambda \in \mathbf{R}_{+}\zeta$ and $x_{j} \in X_{j}$, j = 0, ..., n-1, we have

$$|B(\lambda+B)^{-1}(x_0,...,x_{n-1})|_E \sim L(|\lambda|^{-1},\zeta^{-1},x_0,...,x_{n-1}).$$

Let us now consider a restriction of the operator B. Let B' be the operator in E given by

(5.15)
$$\mathscr{D}(B') = Y_1 \times \cdots \times Y_n, \quad B'x = Bx_n$$

As is easily seen, the range of B' is included in $E' = Y_0 \times \cdots \times Y_{n-1}$. Therefore we

may regard B' as an operator in E'. By A'_j , j=0, 1, ..., n, let us denote the restrictions of the operators A_j with domain $\mathcal{D}(A'_j) = Y_j$, respectively. Then the matrix of operators B' corresponds to the operator pencil $\sum_{j=0}^n \lambda^{n-j} A'_j$. As Lemma 5.3 shows, the operator pencil $\sum_{j=0}^n \lambda^{n-j} A'_j$ satisfies the same hypotheses as $\sum_{j=0}^n \lambda^{n-j} A_j$ dose. Hence, by Lemma 5.4 the operator $\lambda + B'$ is bijective for $\lambda \in \mathbf{R}_+ \zeta$. The inverse of $\lambda + B'$ is given by restricting the operator $(\lambda + B)^{-1}$ onto E'. For $(x_0, ..., x_{n-1}) \in E'$ put

$$|(x_0, ..., x_{n-1})|_{E'} = \sum_{j=0}^{n-1} |x_j|_j'.$$

Let $L'(t, \zeta, x_0, ..., x_{n-1})$ be as in (4.4). For $\lambda \in \mathbb{R}_+ \zeta$ and $x_j \in Y_j$, j = 0, ..., n-1, by Lemma 5.5 we have

$$|B'(\lambda+B')^{-1}(x_0,...,x_{n-1})|_{E'} \sim L'(|\lambda|^{-1},\zeta^{-1},x_0,...,x_{n-1}).$$

Recalling Proposition 4.1, we obtain the following lemma.

Lemma 5.6. There exists a constant C such that for $\lambda \in \mathbf{R}_+ \zeta$ and $x_j \in Y_j$, j=0, ..., n-1, we have

(5.16)
$$|B'(\lambda+B')^{-1}(x_0,...,x_{n-1})|_{E'} \le C \sum_{j=0}^{n-1} [x_j]_j.$$

In particular, $\sup_{\substack{|x|_{E'} \leq 1\\ \lambda \in \mathbf{R} + \zeta}} |B'(\lambda + B')^{-1}x|_{E'}$ is finite.

Remark 5.1. The assertion of Lemma 5.6 is not always true of the operator *B* in *E*. Indeed, by Proposition 4.1, Remark 4.1 and Lemma 5.5, $\sup_{\substack{|x|_E \leq 1 \\ \lambda \in \mathbf{R} + \zeta}} |B(\lambda + B)^{-1}x|_E \text{ is finite if and only if the following condition is satisfied:}$

$$Y_i = X_i$$
 and $|x|'_i \sim |x|_i$, $x \in Y_i$, for $j = 0, 1, ..., n$.

This provides a delicate relation of the spaces X_j , $|\cdot|_j$, j=0, 1, ..., n. In fact, when X_j are function spaces such as Sobolev spaces, the relation is sensitive to the orders of the function spaces and the boundary conditions attached to the function spaces. This subject will be discussed in [26].

6. Main results

Let $X_j, j=0, 1, ..., n$, be complex Banach spaces with norms $|\cdot|_j$. X_j are assumed to be continuously embedded into X_{j-1} for j=1,...,n. Let $A_j, j=1,...,n$, be linear continuous operators from X_j to X_0 . In the sequel we follow the notation given in the preceding sections. For instance, Y_j are the subspaces of X_j given by (3.6_j) . With the hypotheses above $Y_j, j=0, 1, ..., n$, become Banach spaces with respective norms $|\cdot|'_i$.

Let us now consider a linear evolution equation in X_0 of order *n*:

(6.1)
$$\begin{cases} \sum_{j=0}^{n} A_{j} D_{i}^{n-j} u(t) = f(t), & 0 < t < T, \\ D_{t}^{n-j} u(0) = x_{j}, & j = 1, ..., n. \end{cases}$$

where A_0 is the identity operator in X_0 . We are concerned with a solution of (6.1) satisfying

(6.2)
$$u \in \bigcap_{j=0}^{n} B_{p,q}^{n-j+\theta}(0,T;X_j).$$

In order that (6.1) has a solution u with (6.2) the data $(f, x_1, ..., x_n)$ must satisfy suitable compatibility relations. This is based on the following fact.

Lemma 6.1. Assume $1 \le p \le \infty$, $1 \le q \le \infty$, $p^{-1} < \theta < 1 + p^{-1}$, $0 < T \le \infty$. If $u \in \bigcap_{j=0}^{n} B_{p,q}^{n-j+\theta}(0,T;X_j)$, then we have $D_t^{n-j}u(0) \in (Y_j, Y_{j+1})_{\theta-p^{-1},q}$ (the real interpolation spaces between Y_j and Y_{j+1}) for j=0, ..., n-1.

Proof. Let $K'_{j}(t, x)$ be the functional on Y_{j} given by (3.19_{j}) . Recall the definition of the real interpolation space $(Y_{j}, Y_{j+1})_{\eta,q}$, $0 < \eta < 1$, $1 \le q \le \infty$, due to Peetre:

$$(Y_j, Y_{j+1})_{\eta,q} = \{ x \in Y_j; |t^{-\eta} K'_j(t,x)|_{L^q_*(0,\infty)} < \infty \}$$

with norm

$$|x|_{j+\eta,q}' = |t^{-\eta}K_j'(t,x)|_{L^q_{+}(0,\infty)}.$$

By Proposition 4.1 and Remark 4.1 we have only to show that

$$\left|h^{-\theta}\right| L\left(t, 1, \frac{1}{n!} D_t^n u(0), \dots, D_t u(0)\right) \Big|_{L^p(0,h)} |_{L^q(0,T)} < \infty.$$

In the definition of $L(t, 1, x_0, ..., x_{n-1}; \phi)$ put

$$x_j = \frac{1}{(n-j)!} D_t^{n-j} u(0), \quad j = 0, \dots, n-1, \qquad \phi = u(t) - u(0)$$

Since for l=0,...,n-1, we have an equality

$$\sum_{j=l}^{n-1} t^{l-j} x_j - t^{l-n} \phi = -\frac{1}{(n-1-l)!} \int_0^1 (1-s)^{n-1-l} (D_t^{n-l} u(ts) - D_t^{n-l} u(0)) ds,$$

we obtain

Yoshitaka Yamamoto

$$L\left(t, 1, \frac{1}{n!} D_t^n u(0), \dots, D_t u(0)\right)$$

$$\leq \sum_{l=0}^{n-1} \frac{1}{(n-1-l)!} \int_0^1 (1-s)^{n-1-l} |D_t^{n-l} u(ts) - D_t^{n-l} u(0)|_l ds + |u(t) - u(0)|_n$$

Take the norm in $L^{p}(0, h)$ and then, after multiplying the both sides by $h^{-\theta}$, take the norm in $L^{q}_{*}(0, T)$. By Young's inequality the norm

$$\left| h^{-\theta} \right| L\left(t, 1, \frac{1}{n!} D_t^n u(0), \dots, D_t u(0) \right) \Big|_{L^p(0,h)} \Big|_{L^q(0,T)}$$

has an upper bound expressed as a linear combination of $|h^{-\theta}|D_t^{n-l}u(t) - D_t^{n-l}u(0)|_{L^p(0,h;X_l)}|_{L^q(0,T)}$, l=0, 1, ..., n. By Proposition 2.1 (5) this gives a desired estimate.

Assume $1 \le p \le \infty$, $1 \le q \le \infty$, $0 < \theta < \infty$, $0 < T < \infty$. Further assume that $\theta - p^{-1}$ is not an integer. By \mathcal{D}_0 we denote the subspace of $B^{\theta}_{p,q}(0, T; X_0) \times X_0 \times \cdots \times X_{n-1}$ which consists of elements (f, x_1, \dots, x_n) satisfying the conditions (1) and (2) below. Set $N = [\theta - p^{-1}] + 1$. Put $y_{0j} = x_j$, $j = 1, \dots, n$.

(1) If k < N, then $y_{kj} \in X_j$, j = 1, ..., n. In this case put

$$y_{k+1j} = \begin{cases} D_t^k f(0) - \sum_{l=1}^n A_l y_{kl}, & j = 1, \\ y_{kj-1}, & j = 2, ..., n. \end{cases}$$

(2) $y_{Nj} \in (Y_{j-1}, Y_j)_{\theta-p^{-1}+1-N,q}, \quad j=1,...,n.$

We see that

(6.3)
$$y_{kj} \in \begin{cases} (Y_{j-k+N-1}, Y_{j-k+N})_{\theta-p^{-1}+1-N,q}, & 1 \le j \le n-N+k, \\ Y_n(=X_n), & n-N+k < j \le n, \end{cases}$$

because by definition we have

$$y_{kj} = \begin{cases} y_{Nj-k+N}, & N-k \le n-j, \\ y_{k-j+nn}, & N-k > n-j. \end{cases}$$

Hence the space \mathscr{D}_0 is equipped with the norm

$$|f|_{B^{\theta}_{p,q}(0,T;X_0)} + \sum_{k=0}^{N-1} |y_{kn}|_n + \sum_{j=1}^n |y_{Nj}|'_{j+\theta-p^{-1}-N,q}$$

and becomes a Banach space. For $u \in \bigcap_{j=0}^{n} B_{p,q}^{n-j+\theta}(0,T;X_j)$ put

Abstract parabolic equations

$$f = \sum_{j=0}^{n} A_{j} D_{t}^{n-j} u \in B_{p,q}^{\theta}(0,T;X_{0}), \quad x_{j} = D_{t}^{n-j} u(0) \in X_{j-1}, \quad j = 1, ..., n.$$

When N=0, that is, $0 < 0 < p^{-1}$, we apply Lemma 6.1 to $\int_0^t u(s)ds \in \bigcap_{j=0}^n B_{p,q}^{n-j+1+\theta}(0,T; X_j)$ and obtain $(f, x_1, ..., x_n) \in \mathcal{D}_0$. When $N \ge 1$, differentiating f successively N-1 times in t and then taking the traces at t=0 of the derivatives, by Lemma 6.1 we obtain $(f, x_1, ..., x_n) \in \mathcal{D}_0$. Thus \mathcal{D}_0 may be understood as a space of data with certain compatibility relations for (6.1) to have a solution u with (6.2).

We are now ready to state our main result. Define the linear operator P from $\mathscr{D}(P) = \bigcap_{j=0}^{n} B_{p,q}^{n-j+\theta}(0, T; X_j)$ to \mathscr{D}_0 by

$$Pu = \left(\sum_{j=0}^{n} A_j D_t^{n-j} u, D_t^{n-1} u(0), \dots, u(0)\right), \quad u \in \mathscr{D}(P)$$

Let us make the following hypothesis on the operator pencil $\sum_{j=0}^{n} \lambda^{n-j} A_j$:

(H). The linear operators $P_n(\lambda)$, $\lambda \in C$, in X_0 given by

$$\mathscr{D}(P_n(\lambda)) = X_n, \qquad P_n(\lambda)x = \sum_{j=0}^n \lambda^{n-j}A_jx$$

are bijective for $\lambda \in \Sigma \equiv \{\lambda \in C; |\arg \lambda| \le \psi\}$ with a constant $\psi \in (\pi/2, \pi)$. The following estimates hold:

$$\sup_{\lambda\in\Sigma}\|\lambda^{n-j}P_n(\lambda)^{-1}\|_{\mathscr{L}(X_0,X_j)}<\infty, \quad j=0,1,\ldots,n.$$

The following theorem is our main result.

Theorem. Under the hypothesis (H), the operator P is bijective.

In [25] we have studied in detail the operator P in the case n=1. For convenience to the reader we summarize the results.

Proposition 6.1. Assume n = 1. The operator P is bijective if and only if $-A_1$ is a generator of an exponentially bounded analytic semigroup in X_0 .

A similar result is expected for an equation of order n. This subject will be discussed elsewhere.

Here we recall an exponentially bounded analytic semigroup in a complex Banach space and its generator. Such a semigroup has already been studied by [6] and [20]. Let X be a complex Banach space. A mapping $S:(0,\infty) \rightarrow \mathcal{L}(X)$ is called an exponentially bounded analytic semigroup in X, if S satisfies the following conditions (1)-(3):

(1) S is analytic. S has an analytic continuation to a sectorial region $\{t \in C; |\arg t| \le \phi\}$ with a constant $\phi \in (0, \pi/2)$. The continuation, also denoted by S, satisfies the growth condition

$$\sup_{|\arg t| \leq \phi} \|e^{-\omega t} S(t)\|_{\mathscr{L}(X)} < \infty$$

with a constant $\omega \in \mathbf{R}$.

- (2) For t_1 , $t_2 > 0$ we have $S(t_1 + t_2) = S(t_1)S(t_2)$.
- (3) For $x \in X$, if S(t)x = 0, t > 0, holds, then we have x = 0.

For S a linear operator in X is uniquely determined by the condition

$$\mathcal{D}(G) = \{x \in X; y \in X \text{ exists such that } D_t S(t) x - S(t) y = 0, t > 0, \text{ holds}\},\$$
$$Gx = y.$$

The correspondence $S \mapsto G$ is shown to be one-to-one. The operator G is called the generator of S. Let \tilde{G} be a linear operator in X. There exists an exponentially bounded analytic semigroup in X with generator \tilde{G} , if and only if \tilde{G} satisfies the following conditions (1) and (2):

- (1) The operator $\lambda \tilde{G}$ is bijective for $\lambda \in C$ satisfying $|\arg(\lambda \tilde{\omega})| \leq \tilde{\psi}$ with constants $\tilde{\omega} \in \mathbf{R}$ and $\tilde{\psi} \in (\pi/2, \pi)$.
- (2) The following estimate holds:

$$\sup_{|\arg(\lambda-\tilde{\omega})|\leq\tilde{\psi}}\|(\lambda-\tilde{\omega})(\lambda-\tilde{G})^{-1}\|_{\mathscr{L}(X)}<\infty.$$

In this case a semigroup with generator \tilde{G} is given by the inverse Laplace transform of $(\lambda - \tilde{G})^{-1}$.

We shall sketch a proof of the theorem. A detailed proof will be given in the next section. Introducing unknown functions $u_j = D_i^{n-j}u$, j = 1, ..., n, we write (6.1) as a system of equations

(6.4)
$$\begin{cases} D_{t}u_{1}(t) + \sum_{j=1}^{n} A_{j}u_{j}(t) = f(t), \quad 0 < t < T, \\ D_{t}u_{j}(t) - u_{j-1}(t) = 0, \quad j = 2, ..., n, \quad 0 < t < T, \\ u_{j}(0) = x_{j}, \quad j = 1, ..., n. \end{cases}$$

To prove that P is surjective we regard the system (6.4) as an equation in $E' = Y_0 \times \cdots \times Y_{n-1}$ rather than in $E = X_0 \times \cdots \times X_{n-1}$ and seek a solution of (6.1) in $\bigcap_{j=0}^{n} B_{p,q}^{n-j+\theta}(0,T;Y_j)$. The injectivity of P follows from the uniqueness of rather

weak solutions to (6.4) regarded as an equation in E.

7. Proof of Theorem

Proof of surjectivity of P. Let B' be the linear operator in $E = Y_0 \times \cdots \times Y_{n-1}$ given by (5.15). Since the inequality (5.1) holds for every $\zeta \in C$ with $|\zeta| = 1$, $|\arg \zeta| \le \psi$, so dose (5.16). This implies that -B' is a generator of an exponentially bounded analytic semigroup in E'.

By $\tilde{\mathscr{D}}_0$ we denote the subspace of $B^{\theta}_{p,q}(0,T;E') \times E'$ which consists of elements (\tilde{f},\tilde{x}) satisfying the conditions (1) and (2) below. Put $\tilde{x}_0 = \tilde{x}$.

- (1) If k < N, then $\tilde{x}_k \in \mathcal{D}(B')$. In this case put $\tilde{x}_{k+1} = D_i \hbar \tilde{f}(0) B' \tilde{x}_k$.
- (2) $\tilde{x}_N \in (E', \mathcal{D}(B'))_{\theta-p^{-1}+1-N,q}$.

Repeating the argument of Section 6 for the equation

$$\begin{cases} D_t \tilde{u} + B' \tilde{u} = \tilde{f}, & 0 < t < T, \\ \tilde{u}(0) = \tilde{x}, \end{cases}$$

we may define the linear operator \tilde{P} by

$$\tilde{P}: B^{1+\theta}_{p,q}(0,T;E') \cap B^{\theta}_{p,q}(0,T;\mathcal{D}(B')) \to \tilde{\mathcal{D}}_{0}, \qquad \tilde{u} \mapsto (D_{\iota}\tilde{u} + B'\tilde{u},\tilde{u}(0)).$$

By Proposition 6.1 we see that \tilde{P} is bijective.

For $(f, x_1, ..., x_n) \in \mathcal{D}_0$ put $\tilde{f} = {}^{\prime}(f, 0, ..., 0)$ and $\tilde{x} = {}^{\prime}(x_1, ..., x_n)$. Since we have $(Y_0, Y_1)_{\theta - p^{-1} + 1 - N, q} \times \cdots \times (Y_{n-1}, Y_n)_{\theta - p^{-1} + 1 - N, q} = (E', \mathcal{D}(B'))_{\theta - p^{-1} + 1 - N, q}$, it follows from (6.3) that $\tilde{x} \in E'$ and $(\tilde{f}, \tilde{x}) \in \tilde{\mathcal{D}}_0$. Hence there exists a unique function $\tilde{u} \in B_{p,q}^{1+\theta}(0, T; E') \cap B_{p,q}^{\theta}(0, T; \mathcal{D}(B'))$ such that $\tilde{P}\tilde{u} = (\tilde{f}, \tilde{x})$. Let u_n be the *n*-th component of \tilde{u} . It is easy to see that u_n belongs to $\bigcap_{j=0}^n B_{p,q}^{n-j+\theta}(0, T; Y_j)$ and satisfies $Pu_n = (f, x_1, ..., x_n)$. We conclude that P is surjective.

Proof of injectivity of P. Let *B* be the linear operator in $E = X_0 \times \cdots \times X_{n-1}$ given by (5.13). Writing (6.1) as (6.4), we may deduce the injectivity of *P* from the following proposition.

Proposition 7.1. For $u \in C^0((0, T); E) \cap \mathscr{D}'(0, T; \mathscr{D}(B))$, if $D_t u + Bu = 0$ in $\mathscr{D}'(0, T; E)$ and if $\lim_{t \to 0} u(t) = 0$ in E, then we have u = 0 on (0, T).

Proof. Let γ be a contour running in Σ from $e^{-\sqrt{-1}\psi}\infty$ to $e^{\sqrt{-1}\psi}\infty$. For t>0 we define the linear operator $S(t) \in \mathscr{L}(E)$ by

(7.1)
$$S(t) = \frac{1}{2\pi\sqrt{-1}} \int_{\gamma} e^{\lambda t} (\lambda + B)^{-1} d\lambda.$$

The restriction of S(t) onto E' gives an exponentially bounded analytic semigroup in E' with generator -B'. Hence, for $x \in E'$, if S(t)x=0 holds for some t>0, then we have x=0. Put $X_j=X_n$, $j\ge n+1$. For $\mu\in\Sigma$ and $m\in\mathbb{Z}_+$, by (5.14) the operator $(\mu+B)^{-1}$ maps $X_m\times\cdots\times X_{m+n-1}$ into $X_{m+1}\times\cdots\times X_{m+n}$. Hence $(\mu+B)^{-n}$ maps E into $X_n\times\cdots\times X_n \subset E'$. Noting that $(\mu+B)^{-n}$ commutes with S(t), we obtain the following lemma.

Lemma 7.1. For $x \in E$, if S(t)x = 0 holds for some t > 0, then we have x = 0.

We return to a proof of the proposition. Using (7.1) and the equation $D_t u + Bu = 0$, we can prove that for each $\tau \ge T$, $D_t(S(\tau - t)u(t)) = 0$ holds in $\mathscr{D}'(0, T; E)$. This implies that $S(\tau - t)u(t) = 0$, 0 < t < T, since $\lim_{t \to 0} u(t) = 0$ in E. By Lemma 7.1 we conclude that u(t) = 0, 0 < t < T.

DEPARTMENT OF APPLIED PHYSICS, Faculty of Engineering, Osaka University

References

- S. Agmon and L. Nirenberg, Properties of solutions of ordinary differential equations in Banach space, Comm. Pure Appl. Math., 16 (1963), 121-239.
- [2] J. Bergh and J. Löfström, Interpolation Spaces, Springer-Verlag, Berlin-Heidelberg-New York, 1976.
- [3] H. Brézis and L. E. Fraenkel, A function with prescribed initial derivatives in different Banach spaces, J. Funct. Anal., 29 (1978), 328-335.
- [4] P.L. Butzer and H. Berens, Semi-groups of Operators and Approximation, Springer-Verlag, Berlin, 1967.
- [5] G. Da Prato and P. Grisvard, Sommes d'opérateurs linéaires et équations différentielles opérationnelles, J. Math. Pures Appl., 54 (1975), 305-387.
- [6] G. Da Prato and E. Sinestrari, Differential operators with non dense domain, Ann. Scuola Norm. Sup. Pisa, XIV (1987), 285-344.
- [7] G. Di Blasio, Linear parabolic evolution equations in L^p-spaces, Annali Mat., 138 (1984), 55–104.
- [8] Ju. A. Dubinskii, On some differential-operator equations of arbitrary order, Math. USSR-Sb., 19 (1973), 1-21.
- [9] A. Favini and E. Obrecht, Conditions for parabolicity of second order abstract differential equations, Diff. & Int. Equations, 4 (1991), 1005-1022.
- [10] A. Favini and H. Tanabe, On regularity of solutions to *n*-order differential equations of parabolic type in Banach spaces, Osaka J. Math., **31** (1994), 225-246.
- [11] P. Grisvard, Commutativité de deux foncteurs d'interpolation et applications, J. Math. Pures Appl., 45 (1966), 207-290.
- [12] P. Grisvard, Équations différentielles abstraites, Ann. Scient. Éc. Norm. Sup., 2 (1969), 311-395.
- [13] J. Lagnese, On equations of evolution and parabolic equations of higher order in t, J. Math. Anal. Appl., 32 (1970), 15-37.
- [14] T. Muramatu, On Besov spaces of functions defined in general regions, Publ. R. I. M. S. Kyoto Univ., 6 (1970/1971), 515-543.

- [15] T. Muramatu, On Besov spaces and Sobolev spaces of generalized functions defined on a general region, Publ. R. I. M. S. Kyoto Univ., 9 (1974), 325–396.
- [16] T. Muramatu, Besov spaces and analytic semigroups of linear operators, J. Math. Soc. Japan, 42 (1990), 133-146.
- [17] E. Obrecht, Sul problema di Cauchy per le equazioni paraboliche astratte di ordine n, Rend. Sem. Mat. Univ. Padova, 53 (1975), 231-256.
- [18] E. Obrecht, Evolution operators for higher order abstract parabolic equations, Czech. Math. J., 36 (111) (1986), 210-222.
- [19] E. Obrecht, The Cauchy problem for time-dependent abstract parabolic equations of higher order, J. Math. Anal. Appl., 125 (1987), 508-530.
- [20] E. Sinestrari, On the abstract Cauchy problem of parabolic type in spaces of continuous functions, J. Math. Anal. Appl., 107 (1985), 16-66.
- [21] H. Tanabe, Equations of Evolution, Pitman, London, 1979.
- [22] H. Tanabe, Volterra integro-differential equations of parabolic type of higher order in t, J. Fac. Sci. Univ. Tokyo, Sect. IA, Math., 34 (1987), 111-125.
- [23] H. Tanabe, On fundamental solutions of linear parabolic equations of higher order in time and associated Volterra equations, J. Differential Equations, 73 (1988), 288-308.
- [24] H. Triebel, Interpolation Theory, Function Spaces, Differential Operators, North-Holland, Amsterdam-New York, 1978.
- [25] Y. Yamamoto, Remarks on coerciveness in Besov spaces for abstract parabolic equations, J. Math. Kyoto Univ., 34 (1994), 207-218.
- [26] Y. Yamamoto, Characterization of certain intermediate spaces related to functionals of Brézis and Fraenkel, Funkcial. Ekvac., 40 (1997), 123-138.